Solulioms bo Set #7, 249- 26/, /) 2 007

/. (/Q—/O) coble +akes o fensil dree T
T N /’Sobfbe,am #o ﬁ”d 7

.i Jé;_/j’é/%:]/ s pg
i .

e ¢, =30 mate 1.SmA

2y = - P (ds)+ Tamp (3)=0
g = ton (3 =~ 27. /
/ML_: 219 ©
T 2 sinb §
L ope 324N T=/OFF
nhle has 0ael aé 7 = 48K m
C
|o 2,000 AF
. o\,\)kg g = l’ = /2K Q‘
e 480t —=z/zmPa

/ =
sheae in coble €= ’}‘:’—% W




B cables rwn

The slob weight is jog\/'—\o’\/

W= 24 ﬂ“’ [2 <J[e§j[ns] 33,75 &
will 6¢ faé«J ZFp=°

50 Want 2- wvw()m{m‘]’
ol cob

(RA] Y. 25) 5. 25) 27(/ 4)2- = 2,384

| £07u.?5 z-durechon ¢ T = -
‘ 38 0.67/

SF,=H [o.671 T] = 33.75=0 2 7= /2. © Ein

_t
Area A= y90 mm = /20X m®

/2. 4600 6
0"‘ - ) = 2 1) =
/50 K15 6. 2K



g 01857

Cramater = 0.505 in
Gage Length = 2.0in

Load {Ib} Elongation (in) slrain strass (psi)
1000 0.0002 0.0041 A952 BOGTES
2000 0.0008 0.0003 9985, 213565
5000 00015 000095 299556407
000 0.0033 0.00165 A9025.06THI
12000 01,0030 000195 595911.28139
12300 0.0043 0.00215 G404, 6275
13400 0.0047 0.00235 GE800.93089
13600 0.0054 00027 E7BG0.45224
13800 0.0063 0.00315 GEBYT 9735
14000 0005 00,0045 62026 49486
14400 o.o102 00051 71623.53767
15200 0.013 D 00ES T5RAT.E231
16600 0.0z3 00115 B3A7E.79385
18400 00335 D168 863, 0548
20000 00507 0.02535 08852 13565
22400 AL (L0554 1118343319
2200 112832.9133

ﬁ;‘ﬂm /J«ffw{, can Sec fhat o VS E
5 A 44)7’/}7 Lo [osds w0 o = /2 sovlb
/

f::r‘:af .jr/f-?’ﬁ g [ire Hs’;)}ﬁg”' Q_,QFIMQG& A
Shess ove. chsnfe /n 5 Areny
Cdv0s — §°6€5

L ——

Nrﬂﬁlffn.aooj

29.4x 1 pse




Fird. freopo Lomal Aimid- Aom
WAW Cunve ole v, als S [ fre e
asé a mi/lime e scele f/nop/z

G '
6’ - égooo - 07900%;# éé 700/50.

L.
1. = 44798 T paen o groph
Now fant poraled fo vty ol [rmean poss
_ £ /2 %
g = £0000 A BT

Gym otlser = 66779 /5¢

Aol e/@ﬁ‘flf/u?é/ﬁv 4 e f/een ?% olls /s Ol
o, /Z —_ 0,0é = é (o]

144 _
g. 42 .,>ﬂ,w7£:0,/57/-ﬂ&
= é’— (. Sos) = 0.209 "

% AQOZIAQ';(M /‘q @/Lea — /00 o. ZOO—-O/g?
Q.2 00

{ﬁfwﬂé Aeduckty= 5O . 7;07




Stress (psi))

Stress vs. Strain

0.02 0.03
Strain

0.0

4

0

0

5

0.06




4 (15-5) ST

e %0 > P= 2500 (4
. ) O":0~3l,

2S00 :' & o psi
Tro3)% 35, P
4{

(1u/} _ 3z
E_@j—— = /"f/)(m

5: c Q{X/oé
= [ £= (/{} (/.4/3(/55) =!0. oz2r2 = S’]

5= -VE

7‘7»@{15‘/&59 Jg:am
E, =-0. 32 () A/ xec>)
0.3 * (—%fsz'f)(o, Z)

' dramelr = e
/—//nd o. 2 786 = c//

—

= "¢.53 X/o“‘/

= 7. 06218 xes &

-

Area (Hart) = %; a(ﬁz

2.

A - T ,
Aana (imnrbadl ) = Z( z) |
TAAR S )mf?'—— 7206858 yﬁ?‘

7
%o K/Aofﬂy = (100) T P

(-09/ 7o Lo cOSC Wq(

= 7.10485'8')(/;7“




& N
n’;-ib)(a,/f)/@”’)
— /.?[}Dg /\/

LZMO(/@/M bol+
Beonnp oLk s

/go m”f)
% ? —b r
Vari

‘%\ {SMM[":' = /KO/(/D

B&M'ﬂg NLS S (m/@wg/( )

= /2m~7

?000 - 05 - /)’\/Cl
%&w’(’f /5’0)6/06 5o /)“. §Qa

ot
D™ T e soschot

7000
- g(,o/S)" = 507 e




{(é4)

8 3000 ) a ok Lot
<+ Velwe ia fowr
2440/ ot oo N L

/oo AJ

A>3 V= (?OO/\}
[ §oo v J,M\Qz D> E

g->C . /= 12068 .
[ o0 5000 SEML P
vV

: i [ §00
Mg Shesa sless /S mz ~ ¢ 37 rmia
T et WameDy,

ﬂewz’mé Ana&s Adele o daas o /aéaIEZ., L anpest
/9/0,5 Lo s 000 AN
3eoming 612 = ¢ plels fhicdaners ) ( bolF dandl )

oL Beel -
Yoesag (o) (.006) /006 MFAA




7. (1) 7 b s chea Shass s

_ Y _ 1200
CT s i)

o= A0 P
Shom steoim is oisplacoment - o2 _ ol
| Fhickness /5
- = éz/
0



